

Q.8. If  $S_n$  be the sum to  $n$  terms of the series

$\sin x + \sin 3x + \sin 5x + \dots$  to  $n$  terms

$$\frac{S_1 + S_2 + S_3 + \dots + S_n}{n} = \frac{1}{2} \cot \frac{x}{2}$$

$$\text{Here } S_n = \frac{\sin nx}{\sin x} \sin \left\{ x + (n-1)\frac{x}{2} \right\}$$

$$= \frac{1}{2} \left\{ \frac{2 \sin nx \sin \left\{ \frac{2x + nx - x}{2} \right\}}{\sin x} \right\}$$

$$= \frac{1}{2 \sin x} \left[ \frac{2 \sin nx \sin \left\{ \frac{nx + x}{2} \right\}}{\sin x} \right]$$

$$= \frac{1}{2 \sin x} \left[ \cos \left\{ \frac{nx}{2} - \frac{nx + x}{2} \right\} - \cos \left\{ \frac{nx + x}{2} + \frac{nx}{2} \right\} \right]$$

$$= \frac{1}{2 \sin x} \left[ \cos \left( -\frac{x}{2} \right) - \cos (nx + x) \right]$$

$$= \left[ \frac{1}{2} \frac{\cos \frac{x}{2}}{\sin x} - \frac{1}{2} \frac{\cos (n + \frac{1}{2})x}{\sin x} \right]$$

$$\therefore S_n = \frac{1}{2} \cot \frac{x}{2} - \frac{1}{2} \frac{\cos (n + \frac{1}{2})x}{\sin x}$$

$$S_1 = \frac{1}{2} \cot \frac{x}{2} - \frac{1}{2} \frac{\cos \frac{3}{2}x}{\sin x}$$

$$S_2 = \frac{1}{2} \cot \frac{x}{2} - \frac{1}{2} \frac{\cos \frac{5}{2}x}{\sin x}$$

$$S_3 = \frac{1}{2} \cot \frac{x}{2} - \frac{1}{2} \frac{\cos \frac{7}{2}x}{\sin x}$$

$$\therefore S_n = \frac{1}{2} \cot \frac{x}{2} - \frac{1}{2} \frac{\cos (n + \frac{1}{2})x}{\sin x}$$

$$\therefore S_1 + S_2 + S_3 + \dots + S_n = \frac{n}{2} \cot \frac{x}{2} - \frac{1}{2 \sin x} \left\{ \cos \frac{3}{2}x + \cos \frac{5}{2}x + \dots + \cos (n + \frac{1}{2})x \right\}$$

$$= \frac{n}{2} \cot \frac{x}{2} - \frac{1}{2 \sin^2 \frac{x}{2}} \frac{\sin n \cdot \frac{x}{2}}{\sin \frac{x}{2}} \cos \left\{ \frac{3x + (n-1)x}{2} \right\} \quad (2)$$

$$= \frac{n}{2} \cot \frac{x}{2} - \frac{1}{2 \sin^2 \frac{x}{2}} \frac{\sin n \cdot \frac{x}{2}}{\sin \frac{x}{2}} \cos \frac{3x + nx - x}{2}$$

$$= \frac{n}{2} \cot \frac{x}{2} - \frac{1}{2 \sin^2 \frac{x}{2}} \times \frac{\sin n \cdot \frac{x}{2}}{\sin \frac{x}{2}} \cos \frac{nx + 2x}{2}$$

$$\text{If } \frac{s_1 + s_2 + \dots + s_n}{n} = \frac{1}{2} \cot \frac{x}{2} - \frac{1}{2 \sin^2 \frac{x}{2}} \times \frac{\sin n \cdot \frac{x}{2}}{\sin \frac{x}{2}} \cos \frac{(n+1)x}{2}$$

$$\therefore \frac{s_1 + s_2 + \dots + s_n}{n} = \frac{1}{2} \cot \frac{x}{2} \quad \text{---} \quad \underline{P_2}$$

EX. 8

1(i) please see w.o. 1(c)

[problem later in class]

$$\text{1(ii)} \quad C = c \cos x - \frac{1}{2} c^2 \cos 2x + \frac{c^3}{3} \cos 3x - \dots$$

$$S = c \sin x - \frac{1}{2} c^2 \sin 2x + \frac{c^3}{3} \sin 3x - \dots$$

$$\therefore Ctis = c (\cos x + i \sin x) - \frac{c^2}{2} (\cos 2x + i \sin 2x) + \frac{c^3}{3} (\cos 3x + i \sin 3x) - \dots$$

$$= c e^{ix} - \frac{c^2}{2} e^{i2x} + \frac{c^3}{3} e^{i3x} - \dots$$

$$\text{Let } x = ce^{ix} \quad \Rightarrow x + \frac{x^2}{2} + \frac{x^3}{3} - \dots$$

$$\Rightarrow \log(1+x) = \log(1 + ce^{ix})$$

$$\Rightarrow \log \{ 1 + c(\cos x + i \sin x) \}$$

$$Ctis = \log \{ (1 + c \cos x) + i c \sin x \}$$

$$= \frac{1}{2} \log \{ (1 + c \cos x)^2 + c^2 \sin^2 x \} + i \tan^{-1} \frac{c \sin x}{1 + c \cos x}$$

---


$$\log(a+ib) = \frac{1}{2} \log(a^2+b^2) + i \tan^{-1} \frac{b}{a}$$

$$\text{or } CH_1 = \frac{1}{2} \log \left\{ 1 + 2e^{c \cos x} + e^{2c \cos x} + e^{-2 \sin x} \right\}$$

$$+ i \tan^{-1} \frac{e^{\sin x}}{1 + e^{\cos x}}$$

(3)

Equating real and imaginary parts we get

$$C = \frac{1}{2} \log \left\{ 1 + 2e^{c \cos x} + e^{2c \cos x} \right\} \quad (e^{2x} + e^x)$$

$$S = \tan^{-1} \frac{e^{\sin x}}{1 + e^{\cos x}} \quad \text{Ans}$$

$$\text{or } C = \frac{1}{2} \log \left\{ 1 + 2e^{c \cos x} + e^{2c \cos x} \right\} \quad \text{Ans}$$